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CIIEN{ISTRY

OBJECTIVE
I. I:ormula mass of MgSOa is g/mole:

(A) rso 0]) 120 (c) r30 (D) 140

2. Onc molc ol SO2 contains oxygen aloms:

1,4.) 6.02xl0rr (l)) 12.04x10':r (C) I mole (D) 3 moles
3. l'hc iodinc prcscnt in water can be separated by rvhich one o1'the following techniques:

(A) sublimation (B) chromatography (C) filtration (D) solvent cxtraction
,1. Mathcmalically Bo-vle's larv is shorvn as:

(A)Pr K 0l) v1 = K (C) P/r = K (D) Pv = K
-i. Absolule zcro is cqual to:

(A) 273.c (B) -273.C (C) 0.C (D) 273 K
6. At Muree hills uater boils at:

(^) e8'c (B) r00.c (c) 0"c (D) 50"c
7. Coordination number ofNat ion in NaCl is:

(A) Onc (B) Trvo (C) Four (D) Six
8. Quanlum numbcr valuc for 2p orbital arc:

(A) n - 2, t -l (B)n=I. t =2 (C) n:l , t=0 (D)n=2, t=0
9. Illeclronegativity valucs ofF, Br, Cl, I are in the order of:

(A) I > Br> Cl> F (B) Br> l> Cl> F (C)F>C1>I>Br (D)DCI>BI>I
10. Standard cnthalp) changc is measurcd at:

(A)298K (B) 273'C (C) 273K (D) 373K

I l.ln a bomb calorimctcr. thc rcaction arc carried out at constant:

(A)prcssurc (B) Work (C)volume (D) None of thcse

i 2. l hc tcrm pl l rvas introduccd by:

(n ) Ilcndcrson (B) Sorcnson (C) Goldstein (D) Thomson

13. lhc rclationship between Kp and kc is giyen by:

t- r, I'
(n ) K( Kn 1U)t<. rp J- (clKp-KcrRT)^' (D)Kp Kc(RTr-^'

t\
l.l. I $ o solutions of NaCl and KCI are prepared separately by dissolving same amount of thc

solutc in u atcr. Which ofthe follou'ing statements is true for these solutions?

(A)KCI solution *ill havc higher boiling point than NaCl solution
(ll )Both thc solulions have ditltrent boiling points

(C)KCl and NaCl solutions possess same vapour pressure

(ll)KCl solution possesses lo*cr freezing point than NaCl solution

15.1:lcctrolysis is uscd for;
(A)clcctroplating (B)manufacture ofAI
(C) manufacture ofsodium metal (D) al] ofthese

16. Nclson's ccll and l)own's cell are cxample of:
(A) clcctrochcmical ccll (B) galvanic cell (C) electrolytic cell (D) none ofthese

17. I)ccomposilion olnitrogcn pcrta oxide has order ofreaction:
(A)/cro (B)first (C) second (l)) third
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\otc: Scction I is compulsorl. Aflcmpt anl., Thrcc (J) quesiioDs from Section II
sEcTtoN -r

2. \4ritc short answers to qny EICIIT (8) quBtions: 2x8=16
i. Why actual yicld is lcss than theoretical yield?
ii. Calculale the mass in grams of2.74 molcs olKMnOa (Atomic mass ofK:39, Mn=55 and O-16)
iii. N2 and CO have same number ofelectrons, protons, and neutrons? Justify.
iv. Whal arc physical s1a1cs olmatler? Why liquid sute ofmatter is less common than solid and gas

stalcs'.)

\ . Oive lwo statements of Boyle's law.
!i. Statc .loulc Ihomson cffcct. V/ritc its applicalion.
Yii. U'hat is dischargc tubc? Draw its labclcd diagram.
viii. Wh\'lhe gases are non conductor a1 low voltagc and bccome conductor at high voltage'i
ix. (livc rcasons lbr the produclion ofpositive rays.
x. Why burning ofa candlc is a spontaneous proccss?
ri. I)clinc enthalpy ofatomization. Give an example.
\ir. I)illcrcntiatc bctwccn intcmal cnergl changc (AE) and cnthalpy change (AH).

J. \lrilcshorl answcrs to any EICHT (8) qucstioos: 2x8=16
I)clinc sol\,enl extraction and partition law.
What is papcr chromatotsraphy? Namc its 1$o typcs.
Writc do$n thc main characteristics of a solvcnt sclccted for crystallization of a compound.
\afle li)ur typcs of intcrmolecular forces and define dipole-dipole with one example.
What arc dipolc-induccd dipolc lbrccs?
l)illlrcntiatc bclwccn crystallinc solids and amorphous solids.
I)clinc molarity and molality. Give their mathcmatical exprcssion.
'Ihc conccnlralion in tcrms ofmolality is indcpcndcnt oftemperature but molarity dcpcnds upon
lcmlcralurc. Justiry it.

ix. Onc molal solution ofglucose is dilule as compared to one molar solutiol ofglucose. Why'l
x. What is mcant by aclivalion ofcalalyst'.) Giyc two cxamplcs?
\i. l)cllnc ncgative calalyst along with an example.
)iii. I)iscuss autocatalysis rvith example.

-1. Write short atrswers to arly SIX (6) questions: 2x6= 12

Ilond distancc is the comprise distance between the two atoms. Justify it
\\'hy thc radius oI an atom cannot dctcrminc prcciscly?
Ikru'docs atomic radius vary in groups and periods?
l)illcrcnliatc bct*ccn reversible and ireversible reactions.
\\'hat are K. and Kp and ho\l these arc rclatcd?
Writc two applications of equilibrium constanl.
lrxplairr thc ditfercncc between electrol),tic cell and vohaic cell.
1)il'fcrcntiatc between metallic conduction and clcctrol)'tic conduction.
lixplain thc dilI'crcnce between ionization and electrolysis.

SECTI N-
\O'lE: Attcmpt any'l HREf, Qucstions. Each cerries 08 marks. 3x8=24
5. (a) I)cfine molecular formula with 1wo examplcs and explain relationship between molecular lbrmula and

cmpirical lbrmula.
(h) A gas haYing a volume of l0dmr is cncloscd in a vcssel at 0 

oC and the pressure is 2.5 atmosphcrcs.
'lhis gas is allowed to cxpand unlil the new pressure is 2 atmospheres. What will bc the new volume of
rhis gas. iflhc tcmperature is maintaincd at 273K? 4

6. (a) wrilc doun rhc propcrties of metallic crystals. 4
(b) I)clinc and cxplain the term Lnthalpy and prove that AII = qp 1

7. (a) whal is J.J Ihomson's experiment lbr delcrmining thc e/m valuc ofelectron? 4
(b) \landllzgascscombineiogiveNH3gas. l'he value of K. in this reaction at 500'C is 6 '10-2 Calculatc

thc valuc ol-Kp lbr this rcaction. 4

ll. (a) l)cllnc ioniration encrgy? Give lactors upon which il dcpcods. Also give its variation in pqriodic lablc.

/o

l)cliuc oxidation nLrmber and slale any six rulcs ibr assigning ofoxidation number.

I)illcrcntlatc hel$een : i. idcal and norr-idcal solution. ii. Ilydration and hydrolysis
I)iscuss an) lbur charactcristics of catalysl.
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